



What is God leading you to give? The chart provided will give you an idea of what your total giving amount will be over a period of 24 months.

LEVEL 1

Contribution range: \$2500 - \$6000

TIER 1	\$6000 for 24 Months	\$144,000
TEIR 2	\$5000 for 24 Months	\$120,000
TEIR 3	\$4000 for 24 Months	\$96,000
TIER 4	\$3000 for 24 Months	\$72,000
TIER 5	\$2500 for 24 Months	\$60,000

LEVEL 2

Contribution range: \$800 - \$2000

TIER 1	\$2000 for 24 Months	\$48,000
TEIR 2	\$1500 for 24 Months	\$36,000
TEIR 3	\$1000 for 24 Months	\$24,0000
TEIR 4	\$900 for 24 Months	\$21,600
TEIR 4	\$800 for 24 Months	\$19,200

LEVEL 3

Contribution range: \$100 - \$700

TEIR 1	\$700 for 24 Months	\$16,800
TIER 2	\$600 for 24 Months	\$14,400
TIER 3	\$500 for 24 Months	\$12,000
TIER 4	\$200 for 24 Months	\$4,800
TIER 4	\$100 for 24 Months	\$2,400



Use to box below to indicate the contribution level by selecting the contribution tier that God has impressed you to give.

LEVEL 1

Between \$2500 - \$6000 for 24 Months

TIER 1	\$6000 per month	
TEIR 2	\$5000 per month	
TEIR 3	\$4000 per month	
TIER 4	\$3000 per month	
TIER 5	\$2500 per month	

LEVEL 2

Between \$800 - \$2000 for 24 Month

TIER 1	\$2000 per month	
TEIR 2	\$1500 per month	
TEIR 3	\$1000 per month	
TEIR 4	\$900 per month	
TEIR 5	\$800 per month	

LEVEL 3

Between \$100 - \$700 for 24 Months

TEIR 1	\$700 per month	
TIER 2	\$600 per month	
TIER 3	\$500 per month	
TIER 4	\$200 per month	
TIER 5	\$100 per month	

REACH PROMISE 2023



Thank you for your commitment. We are assured that God will be with us and He will bestow his richest blessings through out this journey together.

NAME:	
ADDRESS	
CITY, STATE, ZIP	
PHONE	
EMAIL	
Signature	
Date	
DD/MM/YYYY	